Ol &F A

Al A

FA SEES
I MOIAE SEBR| QTP PE
el SEEY B35 (crol: m2)
SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS2
SEES W 13,043,034 12,446,560 596,474
= 2,638,423 2,570,623 67,800
[ 23,000 23,000 0
Jl 207,840 207,840 0
& 888,717 03,717 15,000
= 9,285,004 8,741,380 543,674
afote= 2| elZel 25 1,163,426 1,206,120 A41,694
= 200,000 200,000 0
Il 101,000 101,000 0
= 300,000 300,000 0
o 562,426 604,120 A41,694
FHEH 2S5 996,090 1,014,390 18,300
= 200,000 200,000 0
Jl 101,000 101,000 0
== 300,000 300,000 0
= 395,090 413,390 A18,300
S =22 8,500 11,000 22,500
201 Zet=d] 6,000 8,500 22,500
01 At2teltl 1,000 3,500 2,500
Ostgel stitsial =4 0 3,500 3,500
osrgel stotsiizl 1,000 0 1,000
HEfotA FXl2tcl 76,500 88,800 12,300
201 et 3| 10,700 11,800 1,100
01 At22t2l] 1,100 2,200 A1,100
OFSf:[§=puy=i 550,000%2& 1,100 2,200 A1,100
401 AIEHIZL S0 56,800 68,000 A11,200
01 Al&H| 56,800 68,000 A11,200
O=ZS(MEH) MEiote S2AA LIE]
g ZALES 7,800 9,000 1,200
OEXA dHotd S2AYE ZLEHE &AF
= 18,000 20,000 A2,000
OHIEEMBAE RRIE+ 10,000 18,000 /8,000
EQIAND 0 =5 10,090 13,590 A3,500
201 Zet=d] 10,090 13,590 A3,500
02 S5=2g4l 4,090 7,590 A3,500
O=E2EAL] LMIE K2l 4,090 7,590 23,500
—=&4l 2,590 4,590 /2,000
—2elt] 1,500 3,000 1,500
28 238X ZdAE 400,000 400,000 0
= 200,000 200,000 0
T 200,000 200,000 0
401 AlEHIZL SO 400,000 400,000 0
= 200,000 200,000 0
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M SFES
M ES o1E B
Rl tolEd =Xzl EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
[ 562,950 567,950 15,000
= 1,574,358 1,637,816 163,458
toletd |Xi2el 4,121,066 4,107,724 13,342
= 1,863,918 1,772,118 91,800
z 23,000 23,000 0
2l 106,840 106,840 0
[ 562,950 567,950 A 15,000
= 1,574,358 1,637,816 163,458
Hleg=3y 2= 29,850 30,000 2150
401 Al&BIL S THYI 29,850 30,000 2150
01 Al&HI 29,850 30,000 2150
oHJIeEsde ¢l X 29,850 30,000 A150
H=3y =24 51,334 51,334 0
< 15,400 15,400 0
= 35,934 35,934 0
201 ger=3| 19,334 15,334 4,000
< 5,800 4,600 1,200
s 13,534 10,734 2,800
2 S22l 19,334 15,334 4,000
OWJI2E=8Y 29 19,334 15,334 4,000
[ 5,800 4,600 1,200
i 13,534 10,734 2,800
307 2Ito1H 32,000 36,000 24,000
< 9,600 10,800 21,200
= 22,400 25,200 £2,800
05 2IZIRAEZ 32,000 36,000 24,000
oteasdd sX2cl 32,000 36,000 24,000
< 9,600 10,800 21,200
i 22,400 25,200 22,800
JI=Hs s S$HasE &4d 3,300 9,300 26,000
201 LEer2 | 2,800 7,800 25,000
01 At2t2lt] 2,800 7,800 £5,000
OJI=8zls g8 AtR2c] 2,800 7,800 5,000
—JI=dsisS $HAaSE &4d 82 Y
900,000 23 1,800 4,800 23,000
—JIRHSS =AY EB22Z(XdDI
S5, o+ 8) 0 2,000 22,000
301 LEIEN S 500 1,500 21,000
11 HARHIXES 500 1,500 21,000
OJI=Hsis dA AL 2a3 s 500 1,500 A1,000
—0ILXl AELEHE 2tes S 500 1,500 A1,000
2 F7A HWEIIHL NS 18,902 21,310 22,408
201 eer23y| 18,902 21,310 22,408
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M ES o1E B
Rl tolEd =Xzl EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
02 S5=g4l 15,592 18,000 22,408
OXSxt 2eHet HSEAAY SN2+ 15,592 18,000 22,408
HIIXS R FOHKIR (812 1,830,000 1,790,000 40,000
= 1,060,000 970,000 90,000
< 231,000 246,000 15,000
= 539,000 574,000 235,000
402 QIZEXH20IH 1,830,000 1,790,000 40,000
= 1,060,000 970,000 90,000
(= 231,000 246,000 15,000
= 539,000 574,000 A35,000
02 QI TH2AILEE (01X THE) 1,830,000 1,790,000 40,000
OMIIESERE POHXIR(RI12F) 690,000 650,000 40,000
= 340,000 250,000 90,000
< 105,000 120,000 A 15,000
= 245,000 280,000 35,000
IS FOHXR(S3) 94,800 93,000 1,800
= 18,800 17,000 1,800
= 76,000 76,000 0
405 THHFSHI 94,800 93,000 1,800
= 18,800 17,000 1,800
z 76,000 76,000 0
01 ML ESFSHI 94,800 93,000 1,800
OTIIESB ROHXA(S3) 56,800 55,000 1,800
= 6,800 5,000 1,800
= 50,000 50,000 0
OIMIHA 24 SHHS| ZAF 2 2ZAI(EX) 49,700 52,200 22,500
= 23,000 23,000 0
= 26,700 29,200 22,500
201 el 2,200 4,700 22,500
2 S5=24g4l 0 2,500 22,500
OUINIEXl ZAl EEEHl S RAl2el] 0 2,500 22,500
OIMISHA S 2,000 19,400 A17,400
201 er2 3| 2,000 19,400 A17,400
01 AtR2tel] 2,000 19,400 217,400
OUIMZHAI s =23 7Y 0 7,500 27,500
—AU3IIEsAlE § 7Y 0 7,500 27,500
ODINIBIX 2 AIRYES =& 2,000 6,400 24,400
—0INIgXl e S8 S-otE A 8
400,000 %53 2,000 6,400 24,400
ODINIEX M2 &=} 2 0 5,500 25,500
IEERMesSE &5 2,769,875 2,839,658 69,783
= 476,000 500,000 224,000
i 2,293,875 2,339,658 145,783
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axiclss &5
=ESSXAE 2e=2d (SH9 H2)
- FE - HA(3H) - HRANY - BES Off &4 I8N BlunsZ
SELS3HCIAL 222 2,769,875 2,839,658 169,783
= 476,000 500,000 24,000
= 2,293,875 2,339,658 A45,783
IIEELBSHeANE 2l 29 2,174,875 2,214,658 A39,783
201 LBt=Ehl 59,158 515,188 80,000
01 AlR22telH] 56,900 69,900 13,000
Oget+=24] 16,800 29,800 13,000
—XelNE &4F 24 =43
750,000 %43 3,000 6,000 3,000
—XcNE S8 B4 R 0 8,000 8,000
—AZEHl RAE=4I 0 2,000 2,000
2 55234l 538,258 445,258 93,000
O=32= € HAl 436,358 340,358 96,000
—IIEER3SHelAE HIIe3
36,000,000 1294 & 432,000 336,000 96,000
OAIZ EHIs XY 90,700 92,700 2,000
—&oerd 2e |t 5,200 7,200 2,000
Oxtetl 11,200 12,200 A1,000
—20 JHl ¥ A2 2,000 3,000 1,000
206 =4l 295,000 330,000 35,000
01 M=Hl 295,000 330,000 35,000
ON=2aSSHcAE2E Mt 7Y 30,000 65,000 35,000
—JIAEE 2238 & RAUE+S A+ 15,000 20,000 5,000
-8 & NHSHA &8 2258 #Y 0 20,000 20,000
—E€xJ] E ¥ A2 7Y
7,500,000& +2CH*14 15,000 25,000 10,000
207 AR 3,000 13,000 10,000
03 Alg 71| 0 10,000 10,000
OaEd A2E 7¢ 0 10,000 10,000
307 2I2t01 475,717 598,500 N122,783
05 2I2tRE =3 475,717 598,500 N122,783
OJt=2axel ikl fIEXel 24| 475,717 598,500 N122,783
401 AIEHIL 20| 806,000 758,000 48,000
01 AlZHI 806,000 758,000 48,000
OI=2aSSHelAlE EH| |2l 318,000 351,000 33,000
—JIH&H |2 64,000 70,000 26,000
—&J|8Hl |2 45,000 50,000 5,000
—NSHON sA2el 45,000 50,000 5,000
—HE&H |2l 18,000 20,000 A2,000
—=2AFI| =X&d B9 23,000 25,000 22,000
—1UEXel ZHl |2 36,000 40,000 24,000
—FHNY &Hl |2 36,000 40,000 4,000
—IIERLBSHIUAMNE HNBRX &4 51,000 56,000 25,000
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SN B#YRSD
I JIE2LHlSY HE
o9l JIEELTTHEIAL Bel2Y CERED
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
O2+d HIZYH NUNL 22| 261,000 265,000 24,000
—HIE2HE HTAL AlE 24 18,000 20,000 22,000
—HIEYY LA Fa 18,000 20,000 22,000
ONBELBIHRIAL ISV HaBA 47,000 52,000 £5,000
ONSELHRlAE 2SE 243A 80,000 9,000 210,000
—IlERLHEAL AR2RS 50,000 60,000 A10,000
ONERLBIHEINE POIAFHEHI| &
7 50,000, 0002422 2 100,000 0 100,000
AN IIFELBIHLIAE SEAY 595,000 625,000 230,000
2 476,000 500,000 £24,000
2 119,000 125,000 26,000
401 AIEHI LS TH| 595,000 625,000 230,000
2 476,000 500,000 £24,000
2 119,000 125,000 £6,000
01 Al&H 501,200 621,200 230,000
ONIE2LBIHINE SLAY 591,200 621,200 230,000
2 473,000 497,000 £24,000
2 118,200 124,200 £6,000
S R2ISRE 3,547,207 3,138,508 408,699
SteHel +3Yst 3,547,207 3,138,508 408,609
SteHEIAA B2l 2Y 3,547,207 3,138,508 408,609
201 2er2ei| 623,000 575,000 48,000
2 ZZ2H| 623,000 575,000 48,000
OZZR2 2 MAl 601,000 553,000 48,000
—24BBEIHIAL FIIe3
11,500, 0002+ 12042 138,000 120,000 18,000
—QABBIAHIAL FIIQ
16,000, 00024+ 12042 192,000 180,000 12,000
—Oh2ot4aR2IAIL ®II23
16,500, 00021+ 12042 198,000 180,000 18,000
401 A&BIL=ChY| 90,000 390,000 300,000
01 Al 90,000 390,000 300,000
OBBaHHRIAE JISTS HEAL 50,000 350,000 300,000
— QMBI JISEC THEA
s 50,000 350,000 300,000
400 QIFHRH0IH 2,669,758 2,009,059 660,699
03 SI2HRIEL ARt 2,669,758 2,009,059 660,699
OYATTEATAIE R0 2| 2,619,758 1,950,059 660,609
HLES (82251 9,720 9,060 660
EEPE 9,720 9,060 660
9x3 s 9,720 9,060 660
802 Brek 20| 9,720 9,060 660
01 TNExSES 9,561 9,006 556
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